No

Description

Part Number:

ISO-4032-M12-D—

Part Number:

B18.21.2M-INTERNAL TOOK

Part Number: ISO 10642 — M3 X 8 — 8N.

Part Number:

ISO 4762 4762 M5 X 10 —

Part Number:

ISO 8733 -X35-ST (Parallel

Part Number:

ISO 4762 M6 X 16-16N

Part Number:

ISO8734—-3X16—-AST

Part Number:

Parallel key A4 X 4 X 20 DIN

Ol |N|JOO|L]|PR|WIN]|F-

Part Number:

Washer ISO 7093 -8.

[E
o

Part Number:

ISO — 4036 — M8 — N (Nut).

[EEN
=

Part Number:

ISO 10511 — M8-N (Shallow

=
N

Part Number:

ISO8734-4X26-A-ST

[EEN
w

Part Number:

ISO8734—-4X16—-AST

=
o

Part Number:

ISO 4762 M2.5 X 8 — 8N.

[EEN
ul

Part Number:

ISO 4762 M2 X 4 — 4N.

=
(<))

Part Number:

ISO 8733 -6 X 18 —ST

[EEN
~N

Part Number:

ISO 10642 — M3 X 8 — 8N.

[E
00

Part Number:

Washer ISO 7091 - 8.

[EEN
O

Part Number:

ISO8735—-X24-A-ST




Quantity

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30

30




